Information of ODU (5G NR N260 — 29G/39G) Permit-But-Ask Guidance

1. System Information

|Description Parameter Comment
[Fcc i
Radio Service Part 30 Rule parts

This device can support WWAN 5G in 3GPP n260/n261 ( QUALCOMM solution )

Below table is technology brief parameter.



Table 1: 5G NR Brief Operating Parameters

|Description

Parameter

Comment

|Frequency band

27.5 ~ 28.35GHz
37.6 ~ 40.0GHz

System parameter

IRF Output Power

Maximum EIRP: 28.8 dBm

System parameter

System/Channel Bandwidth (MHz)

Support 1CC /2CC/4CC
( CC : Component carrier )
1CC BW : 100MHz
Operation bandwidth : 100MHz ~ 400MHz

System parameter




IModulation Schemes

64QAM

Identify all applicable
modaulations

[the highest edze of frequency] [the highest edze of frequency)

) . Describe MIMO
IMIMO Schemes 2x2 MIMO ( Vertical beam + Horizontal beam) . .
information
Antepna Gain_NR260 Antenna Gain_NR261
I Freguey GHE (B T Fremny e L GanaE
[the owest E:i:off'E:Lercy' =23 [the lowvest E:z::;)ﬂ'e:Lercy' 2214
_ : _ : Describe Antenna
Antenna 35.45 22 BB 27.58 24.1 . .
information
4 23.32 28.3% 22.03

Antenna Location

(include operation condition)

¥ Please refer to “EUT Information”

Describe Antenna

information




Antenna information:

B n261 All Beam data (27.5 ~ 28.35GHz)

B Vertical Beam ID : 0 ~62 ; Horizontal Beam ID : 128 ~ 190

Beam n261 Low Channel

n261 Middle Channel

n261 High Channel

Beam 0 Average Power = -1.5536 dBi

o
theta [degrees)

Beam 0 Average Power = -1.5250 dBi
Max value = 17.6636 dBi Efficiency = 70.3736 %

theta [degrees]
o
L=

| gl

theta [degrees]

Beam 0 Average Power = -1.5733 dBi
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Beam 1 Average Power = -1.4102 dBi Beam 1 Average Power = -1.2317 dBi Beam 1 Average Power = -1.4039 dBi
S Max value = 13,173 dBi Efficiency = 72.2728 % S Max value = 13.2251 dBi Efficiency = 75.3055 % Max value = 12,4058 dBi Efficiency = 72.3785 %
_ 10
&
— 2 — —
& 9 2
2 2 2
(=4 o [=
o ] o
1 = 2 2 b=
£} 8 8
-] -] -
& 3] 3]
4

0
0 30 60 90 120 150 180 210 240 270 300 3%
phi [degrees]




theta [degrees]

Beam 2 Average Power = -1.6357 dBi
Max value = 17.098 dBi Efficiency = 68.6162 %

60

theta [degrees]

Beam 2 Average Power = -1.6003 dBi
Max value = 17.5903 dBi Efficiency = 69.1789 %
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theta [degrees]

Beam 2 Average Power = -1.6591 dBi
Max value = 17.8275 dBi Efficiency = 68.248 %
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Beam 3 Average Power = -1.3156 dBi Beam 3 Average Power = -1.3628 dBi Beam 3 Average Power = -1.6312 dBi
T 5.1683 dBi Efficiency = 73.8 S Max value = 14,1625 dBi Efficiency = 73.0669 % Max value = 13,5113 dBi Efficiency = 68.6873 %
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Beam 4 Average Power = -1.1295 dBi
Max value = 7.8016 dBi Efficiency = 77.0988 %

Beam 4 Average Power = -1.1569 dBi
Max value = 7.4115 dBi Efficiency = 76.6151 %

Beam 4 Average Power = -1.5933 dBi
Max value = 6.6701 dBi Efficiency = 69.2904 %
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Beam 5 Average Power = -1.6965 dBi Beam 5 Average Power = -1.5218 dBi Beam 5 Average Power = -1.4738 dBi
Max value = 11.0506 dBi Efficiency = 67.6634 % Max value = 12.3798 dBi Efficiency = 70.4397 %
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Beam 6 Average Power = -1.6652 dBi

Beam 6 Average Power = -1.6432 dBi
Max value = 21,4725 dBi Efficiency = 68.4979 %

Beam 6 Average Power = -1.6994 dBi
Max value = 21.9319 dBi Efficiency = 67.6175 %

M lue = 21.2511 =68.152 %
S ue 21,2511 dBi Efficiency = 68.152 % S
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Beam 7 Average Power = -1.9208 dBi Beam 7 Average Power = -1.6555 dBi Beam 7 Average Power = -1.6129 dBi
S 6 Max value = 18,4769 dBi Efficiency = 68.3053 % S Max value = 18,3932 dBi Efficiency =
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Beam 8 Average Power = -1.9804 dBi
Max value = 21,1428 dBi Efficiency = 63.2359

Beam 8 Average Power = -1.9012 dBi
Max value = 21,3282 dBi Efficiency = 64.5473 %

Beam 8 Average Power = -1.9431 dBi
Max value = 21.3827 dBi Efficiency = 63.9271 %
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Beam 9 Average Power = -1.3467 dBi Beam 9 Average Power = -1.0924 dBi Beam 9 Average Power = -1.3528 dBi
S Max value = 15.7689 dBi Efficiency = 73.3388 % 35 Max value = 16.16 dBi Efficiency = 77.7607 % Jib Max value = 15.8408 dBi Efficiency = 73,2355 %
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Beam 10 Average Power = -1.4318 dBi
Max value = 15.0903 dBi Efficiency = 71.9154 %

Beam 10 Average Power = -1.4338 dBi
Max value = 14.5865 dBi Efficiency = 71.8827 %

Beam 10 Average Power = -1.7527 dBi
Max value = 14.6393 dBi Efficiency = 66.7928 %
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Beam 11 Average Power = -1.4968 dBi Beam 11 Average Power = -0.99328 dBi Beam 11 Average Power = -0.98824 dBi
T Max value = 16,9333 dBi Efficiency = 70.8462 % S Max value = 17.3102 dBi Efficiency = 79.5558 % Jib Max value = 17,1399 dBi Efficiency = 79.6483 %
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Beam 12 Average Power = -2.0663 dBi

Beam 12 Average Power = -1.8462 dBi
Max value = 22.8451 dBi Efficiency = 65.3703 %

Beam 12 Average Power = -1.7971 dBi
Max value = 23,4932 dBi Efficiency = 66.1135 %

Max value = 22.1949 dBi Efficiency = 62.1401 % T
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Beam 14 Average Power = -1.4803 dBi

Beam 14 Average Power = -1.4283 dBi

Max value = 21,5116 dBi Efficiency = 71.973 %
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Beam 14 Average Power = -1.401 dBi
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Beam 15 Average Power = -1.1846 dBi Beam 15 Average Power = -1.2086 dBi Beam 15 Average Power = -1.4366 dBi
S Max value = 18.7287 dBi Efficiency = 76.1272 % e value = 18.9621 dBi Efficiency =75.7082% Max value = 18.744 dBi Efficiency = 71.8348 %
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Beam 16 Average Power = -1.4642 dBi
Max value = 18.4356 dBi Efficiency = 71.38 %

Beam 16 Average Power = -1.4551 dBi
Max value = 18.5847 dBi Efficiency = 71.5304 %
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Beam 16 Average Power = -1.6707 dBi
Max value = 18,3529 dBi Efficiency = 68.0662
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Beam 18 Average Power = -1.3221 dBi
Max value = 11.6566 dBi Efficiency = 73.7552 %

Beam 18 Average Power = -0.93051 dBi
Max value = 12,1763 dBi Efficiency = 80.7141 %
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Beam 18 Average Power = -1.098 dBi
Max value = 12.082 dBi Efficiency = 77.6608 %
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Beam 19 Average Power = -1.3127 dBi Beam 19 Average Power = -1.1602 dBi Beam 19 Average Power = -1.4415 dBi
T Max value = 11.7019 dBi Efficiency = 73.915 % S Max value = 12.1489 dBi Efficiency = 76.5558 % S Max value = 12.0041 dBi Efficiency =71.754 %
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Beam 20 Average Power = -1.1069 dBi
Max value = 12,4497 dBi Efficiency =77.501 %

o

Beam 20 Average Power = -1.2823 dBi
Max value = 12,1056 dBi Efficiency = 74434 %

Beam 20 Average Power = -1.7937 dBi
Max value = 11.4237 dBi Efficiency = 66.1651 %
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Beam 21 Average Power = -2.6333 dBi Beam 21 Average Power = -2.1939 dBi
T Max value = 14.6539 dBi Efficiency = 54.5343 % =60.3403 %
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Beam 22 Average Power = -1.7573 dBi
Max value = 16.0869 dBi Efficiency = 66.7215 %
~da !

Beam 22 Average Power = -1.6405 dBi
Max value = 16.0668 dBi Efficiency = 68.5416 %

Beam 22 Average Power = -1.5663 dBi
Max value = 16.0501 dBi Efficiency = 69.7222 %
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Beam 23 Average Power = -2.3297 dBi Beam 23 Average Power = -2.1034 dBi Beam 23 Average Power = -1.8833 dBi
Max value = 16.1415 dBi Efficiency = 58.4837 % Max value = 16,1313 dBi Efficiency = 61.6114 % Max value = 17.2516 dBj Efficiency = 64.8142 %
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Beam 24 Average Power = -1.7304 dBi
Max value = 20.921 dBi Efficiency = 67.1363 %

Beam 24 Average Power = -1.6084 dBi
Max value = 20.9731 dBi Efficiency = 69.0488 %

Beam 24 Average Power = -1.621 dBi
Max value = 21,1921 dBi Efficiency = 68.8495 %
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Max value = 20,0984 dBi Efficiency = 62.0961 % Max value = 20.574 dBi Efficiency = 65.4249 % 5 Max value = 20.7568 dBi Efficiency = 65.6881 %
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Beam 26 Average Power = -1.2995 dBi
Max value = 15.1219 dBi Efficiency = 74.1395 %

Beam 26 Average Power = -0,90972 dBi
Max value = 15,4978 dBi Efficiency = 81,1013 %

180

Beam 26 Average Power = -1.0551 dBi
Max value = 15.3086 dBi Efficiency = 78.4313 %
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Beam 27 Average Power = -1.4885 dBi Beam 27 Average Power = -1.1179 dBi Beam 27 Average Power = -1.1775 dBi
T Max value = 17.4129 dBi Efficiency = 70.9821 % S Max value = 17.2472 dBi Efficiency = 77.3061 % S Max value = 17.1107 dBi Efficiency = 76.2522 %
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Beam 28 Average Power = -1.8591 dBi
Max value = 22,8164 dBi Efficiency = 65.1759 % _

Beam 28 Average Power = -1.6978 dBi

Beam 28 Average Power = -1.6838 dBi
Max value = 23.7358 dBi Efficiency = 67.8612
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Beam 30 Average Power = -1.5018 dBi

Beam 30 Average Power = -1.5833 dBi
Max value = 17.5727 dBi Efficiency = 69.2895 %

Beam 30 Average Power = -1.9064 dBi
Max value = 16.7208 dBi Efficienc:
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Beam 32 Average Power =-1.352 dBi
Max value = 11.8466 dBi Efficiency = 73.2493 %

Beam 32 Average Power =-1.047 dBi
Max value = 12.2401 dBi Efficiency = 78.5774 %

Beam 32 Average Power =-1.246 dBi
Max value = 12.1474 dBi Efficiency = 75.0577 %
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Beam 34 Average Power = -2.3175 dBi
Max value = 13.4626 dBi Efficiency = 58.6482 %

Beam 34 Average Power = -1.9472 dBi

Beam 34 Average Power =-1.697 dBi
Max val 4.3782 dBi Efficiency = 67.6557 %
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Beam 35 Average Power = -2.2155 dBi Beam 35 Average Power = -2.0185 dBi Beam 35 Average Power = -1.8308 dBi
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Beam 36 Average Power = -1.3098 dBi

Beam 36 Average Power = -1.1171 dBi
Max value = 17.9729 dBi Efficiency = 77.3199 %

Beam 36 Average Power =-1.341 dBi
Max value = 17.8249 dBi Efficiency = 73.4352 %

S Max value = 17.2424 dBi Efficiency = 73.9648 % i
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Beam 37 Average Power = -1.4145 dBi Beam 37 Average Power = -1.3112 dBi Beam 37 Average Power =-1.633 dBi
Max value = 17.3787 dBi Efficiency = 72.2024 % Max value = 17.3476 dBi Efficiency = 73.9398 % Max value = 17.2939 dBi Efficiency = 68.6589 %
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Beam 38 Average Power = -1.2575 dBi
Max value = 16.9719 dBi Efficiency = 74.8598 %

180

Beam 38 Average Power = -1.0463 dBi
Max value = 17.3005 dBi Efficiency = 78.5899 %

-

150

Beam 38 Average Power = -1.3386 dBi
Max value = 17.0282 dBi Efficiency = 73.4757 %
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Beam 39 Average Power = -1.4699 dBi Beam 39 Average Power = -1.2575 dBi Beam 39 Average Power = -1.4438 dBi
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